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Question Number : 3 Question Id : 4557344323 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

n .
Let S, = Z(—l)k-l .k for n= 1. Given that S,, =—n(2n+1) for n =1. 2. 3. .... then B
k=1

n :
n218 S, = Z:(—l)’k'1 k o%sos n=1,2,3,..8 Sy, =-n(2n+1) ©d a%), S, =
k=1

Options :

| —3003

3
J
[
[ e
LIS

Question Number : 4 Question Id : 4557344324 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Question Number : 5 Question Id : 4557344325 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Letmatrix A =

If A”X =cAX. then the number of distinct values of ¢ is

A=|-3
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. X be a non zero matrix of order 3 <1 and ¢ be a real number.
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Question Number : 6 Question Id : 4557344326 Question Type : MCQ Display Question Number : Yes Single Line Question Option
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A set of values of 0 for which the system of equations
(sin 3@)x —y+z=0.
(cos 20)x+4yv+3z=0,
2+ Ty+7z=0

has non-trivial solutions. is

(sn30)x—y+z=
(cos 20) x + 4y +3z=0,

2x+Ty+7z=0
HNangdoge éga’nc‘g %‘Pﬁgéd FBSeS DA esoiiésé.)% &S00 0 Bng) Jende wE IS

Options :
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(here 7 is any integer =8 ¢ 7 B Frgroso)

b4 n/a
(here 7 is any integer 28 ¢ 7 JBT Hrgoso)
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(here 7 is any integer 28) & 7 IBT rgoso)

T
nit+ _]. H_

. (here » 1s any mnteger 28) & n JBT Jrgroso)

Question Number : 7 Question Id : 4557344327 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

The maximum value of the modulus of e:2 on the set {z €C/0<Re(z)<L0<Im(z)= l} is

528 {z€C/0<Re(z)<LO0<In(z)<1} p & Sr55n B0, K03 Do
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Question Number : 8 Question Id : 4557344328 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If Z = +1 is a complex number and Arg] % = % then the locus of Z in the Argand
L+l

plane 1s

. : : Z-1\ =« " ;
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Question Number : 9 Question Id : 4557344329 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

IfC,="C,.then Cy+ C4y+Cg+Cpp+...=

n
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C,= C,2on8, Cg+C4+Cg+Cpp+...=
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Question Number : 10 Question Id : 4557344330 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

One of the complex roots of the equation x*! —x® -’ +1=01s

M —x0—x3 + 1 =0 508620 A, H08Y Hreres® 2,848
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Question Number : 11 Question Id : 4557344331 Question Type : MCQ Display Question Number : Yes Single Line Question
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If the quadratic equation 4> “. x* 4 2x +| i} % Y, e ] = 0 has real roots. then the value

Y & &
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Question Number : 12 Question Id : 4557344332 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The sum of the non-real roots of ( pi+p-3 )( pr+p-2 ) —12=01s

(p3 +p—3)(p2 +p—2)—12 =0 BNEGDE Ko TRIISE Sorere JgSn
Options :
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Question Number : 13 Question Id : 4557344333 Question Type : MCQ Display Question Number : Yes Single Line Question
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The solution set of the inequation \/ x> +6x+5>(8—x)is

~
\/.T" +6x+5>(8—-x) o3 «dnidoo BN FES Sé
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Question Number : 14 Question Id : 4557344334 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If o B are the irrational roots of the equation x° — 5x* + 91 — 9x% + 5x — 1 = 0. then the
roots of the equation (ot + B) x*> + 20 x —of = 0 are

o Ben D80 ¥ =5t + 93 -9 +5x-1=0 @B, §6B0o%H Sarereond,

(o +B) 2+ 20P x — off = 0 B8G0 D), Sareren

Options :
g b
1 3

L-2
(B

Question Number : 15 Question Id : 4557344335 Question Type : MCQ Display Question Number : Yes Single Line Question
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Let 72 be a natural number such that 20000 < m < 60000 and let & be the sum of all the digits
i 72. Then the number of numbers 2 for which kis even. 1s

Siradopg m 38 20000 < m < 60000 ©chglitnm 4odd), m &' ©i) wose Ingo
ked wiHh8omro. wbvd kd0dopg edgtomr &od Sopgen m o Sopg
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Question Number : 16 Question Id : 4557344336 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

There are three sections in a Question Paper. each containing 4 Questions. If a candidate

has to answer only 5 Questions from this paper without leaving any section. then number
of ways the candidate can make the choice of questions is

a8 DTG0 S0 Mo BT "r:géej" 28 TPU0HOM 4 PH SwI). a8 -*E-eﬁgg 4
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Question Number : 17 Question Id : 4557344337 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The coefficient of x* in the expansion of (1 + x —x* —x°)! is

(1 +x -2 =) Bng) 2880s5* 1 B0, Kra8smn
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Question Number : 18 Question Id : 4557344338 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If |x| is so small that x* and higher powers of x may be neglected, then the approximate

value of
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Question Number : 19 Question Id : 4557344339 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The coefficient of x* in the power series expansion of 15
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Question Number : 20 Question Id : 4557344340 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The smallest positive root of the equation tan x —x = 0 lies in the interval

tan x —x = 0 DEG0 BN EDA SSSre0 ¢oR ®osdo
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Question Number : 21 Question Id : 4557344341 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

| Vs 2x 37 4x St 6 T
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Question Number : 22 Question Id : 4557344342 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If A 1s in the third quadrant and tan A :T. then 18*—165111‘7+-—325111 ==

r = § = ﬁ —ll . 7 .I.A - ' &A " 5.&&
A Sorddarsoes” ¢od Hdosn tanA = — ©008, 18—16sm~ - —:2511175111 e
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Question Number : 23 Question Id : 4557344343 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform




Let P (0. B) and Q (y. 8) be two points that lie on the curve tan’(x+v)+cos*(x-+1)+1°+2y =0

in the XY-plane. If the distance between P and Q 1s . then cos d=

XY- €e065°0 S0 tan’(x+v)+cos?(xH 2y =

w8 om0. P. Qo gy &rdo d©wond, cosd=

Options :
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Question Number : 24 Question Id : 4557344344 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Tan'2+ Cot™ (=3)+ Cor"ll% +Tan™ [ —é ' —
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Question Number : 25 Question Id : 4557344345 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If x=——. sin/ x+cosech x=
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Question Number : 26 Question Id : 4557344346 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Bl Sl el | " A O
InAABC.if - - then tau3[7|+tan“ 7|=

11 12 13

- . s—a s—b s—c . [ A o I Ry
AABCe® i = — LWONB, ta113|—|+ta11' —
11 12 13 L2 )

-2
—
=
'.,;,,I

Question Number : 27 Question Id : 4557344347 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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1(' A+B)

In AABC. (a—b)" sin

l+[a+b) sin” % .]=

AABC &5° (ﬂ—-b)jsm‘](ATw]-i-(n—kb)zsn |%l
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Question Number : 28 Question Id : 4557344348 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a triangle. 1f the ex-radi1 7. 7. 73 are in the ratio 1:2:3. then its sides are in the ratio

a8 (©@ghadn BN, EJ"”f:.T‘g TR0 1y, 1y, 1300 1:2:3 ANES” 0B, = (Gghadn
@B0E), Fene VNG

Options :

1. 5:8:9

5:4:3

-2

3 7:9:11

Question Number : 29 Question Id : 4557344349 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In A ABC. if D and E are the mud points of the sides BC and CA respectively. then
2(AD+EB)=

AABC &° D.E &0 863 BC. CAghzsne 585 HodHoond, ebyd "(AD+EB) =
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Question Number : 30 Question Id : 4557344350 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If7=2i —3j+4k.m=1i —j. | =2i — j +k . then the Cartesian equation of the plane
passing through the line of intersection of two planes 7-7=1 and 7. =-4 and

perpendicular to the plane Pl = -8 1s

n=2i —3j+4k.m=i—j. ] =2i —j+k ©0»8, F-n=1, F-ii=—4 ©3 Dod&>
g dne Poks O ogor 7l =—8 $051058 ©00m 08 $05058 50050

HEpES0

Options :
| S5x—20y—122—44=0

x—2y—122-45=0

[

1 Sx—20y—122-47=10

Sx—2y—12-+47=0

Question Number : 31 Question Id : 4557344351 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If . a.b.T arevectors of equal magnitude such that (H. b )= (3 .?)z Jéj .‘( c.a )=y then

the minimum value of cos @ +cos f+cos  is

S575 HBSFRONS BBy @b, T e (Z.b)=a, (b.F)=8, (z.@)=y ©@ogodnm
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Question Number : 32 Question Id : 4557344352 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In A ABC if A(&). B B) and 'C(;?) are the position vectors of the vertices. then the

length of the perpendicular from A to BC 1s

AABC&* A(@). B(f) 58050 C(7) en 8¢3we 56488, Asroa BC§ AdS wowo &)
Options :
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Question Number : 33 Question Id : 4557344353 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

[ ]
gcollegedumas
India’s largest Student Review Platform

el



If @. b. ¢ are three non-coplanar vectors. then match the items of List-I with those of
List-II.

List -1 List-1I

A [bxz Txa axb]= D) [E bl

B) |axb axt b|= ) ‘Z[Ef b e

C) [a+b b+e T+d]= m [ab ]

D) For three mutually perpendicular unit vectors
a.b.c: ) [abe|ab]
[(E+E+E) bxT Txa|= V) 0

.E. b. T en otk =EdoH JS0FBB, rde-165%°0 wofSne, wrdHar-I 5% vofdred®
24803084.

mfe - 1 he - 11

A) [bxc exa axb]= 1) '[‘a' b ]

B) [axb axt b= m 2(ab 7]

c) |a+b b+e e+a|= m) '[555

D) S 36800 onom &&) Ghrdi Boge
. b.cok: ) [abe|ab]
+[(E+E+F) b %% Fxr_r]= v 0

The correct answer 1s
5B8 BEFTEE0

Options :
A B C D
Il IV V I
A B C D
< ¥ T
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Question Number : 34 Question Id : 4557344354 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a.band ¢ are three unit vectors such that no two of them are collinear. If

b= E{HX(E x?)} and a is the angle between @.¢ and B is the angle between a@.b then

rCos(a+ﬁ)=

TES* Q Bodor SEPoH B0 SHLRT 7. b . Ten Jord chrdds H&6%en. b = Z{EX(Z) x?)}

wIS>, T.T © 585 Swo oS0 7, b o D& Fno feond, ek Cos(a+f)=
Options :
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(' |f_m

e L2
[ o ] | —
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Question Number : 35 Question Id : 4557344355 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the variance of 6. 7. 8. 9. 10. 11 is ¢-. then the variance of 112. 114. 116. 118. 120. 122
1S

b

swona, 112.114.116.118.120.122 B0, DS
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100 + 202
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4 100 +46°

Question Number : 36 Question Id : 4557344356 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Consider the frequency distribution

CL | 75-175 | 175-275 | 275-375 | 375-475 | 475-575 | 575-675 | 675-775
7 3 2 1 0 1 2 3

If the variance of this distribution 1s 60000. then the coefficient of variation of the
distribution is

& Bob ISy Deraddn H0EDoTod.

BS1NE 75-175|175-275 | 275-375 | 375-475| 475-575 | 575-675 | 675-775
080
¥ 3 2 1 0 1 2 3

& Derasdn HH)S 60000 woNd, & Jerado FB0E), JSOT 08NN

Options :

1. 60

1006

17

4006

3 9
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Question Number : 37 Question Id : 4557344357 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If two numbers @ and b are chosen from the set of integers 1 to 39. then the probability that
those numbers satisfy the equation 7a — 956 =10 1s

1 5308 39 $6% Ko Sopge S8 K08 a, b 3 Bok Sopgod JohE BHSHYWE, &
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Question Number : 38 Question Id : 4557344358 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two balls are drawn from an urn containing 7 white. 6 red and 8 black balls one after the
other without replacement. Then the probability that atleast one of them 1s white. 1s

2.8 g S0 e 7 8e0d), 6 J503) Ndon 8 Senw) dodzé“ézéﬁg 20800 oG 85T
SBrard SH5E8m Dok oo, &HS 08 SHde FES® GoSiomF DT E. ®wonad
es Do wodhees® Ed0 .88 BonHboH 208 ST Ko QOIS

Options :

4

s 9
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Question Number : 39 Question Id : 4557344359 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In a manufacturing company. three machines A. B and C respectively produce 20%. 30%
and 50% of the total product. The defective products from A. B and C are respectively 5%.
3% and 2%. If an article produced by the company is selected at random and 1s found to be

defective. then the probability that 1t 1s produced by machine B is

a8 353 So5rd oS D Sordd ohoEren A, B. C e 3ngo &&6)85° S6dm
20%. 30%. 50% %18 Barow. & dhogren A.B, Co 508 $05rds S8Pees* S6dm
5%. 3%. 2%e0 %0 §OASED. & Lo SSTrHBY wf SHHK oSrdyEor Jonhs
BOBNYE ©b §ho ONSHED 508, & 5:5H oo B SairSHBHSEG0g Sogrdge

Options :

10
. 29

8
29

L2

Question Number : 40 Question Id : 4557344360 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The variance of the random variable X having the following distribution

X=k: -2 o 0 1 2
O | 1 1 1 1

R 6 6 3 6 6
1S

G (§08 Jerasod NONS ABrays Jood X @ng) J[)8

X=k: -2 -1 0 1 2
s, 1 1 1 1

=) 6 6 3 6 6
Options :
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Question Number : 41 Question Id : 4557344361 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Given that the probability of a man hitting a target with a gun 1s —. If he fires 8 times. then

=
3

the probability of his hitting the target atleast twice 1s

Fd

©d @®. © Sg8 8 T Dey™, §1d0

L2
LIS

Question Number : 42 Question Id : 4557344362 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A variable line ‘L’ passing through the origin cuts two parallel lines x —y + 10 = 0 and
x—y+20=0at two pomts A and B respectively. If P1is a point on line ‘L’ such that OA. OP.
OB are m harmonic progression. then the locus of P is

SoreotHs) HoFFa) $E0 ‘L. x—y+10=0 506050 x—y + 20 =0 =3 3ok
J8rods Dpod SHIM A, B Hokhhe & poderod. OA, OP. OB o Sodif @&
&0GLL, LB Pul Dot 408, P BwE), HokHGsn

Options :

3x+3vy+40=0

—

3x+3y+20=0

L-2

3x—3y+40=0

g

3x—3y+20=0

Question Number : 43 Question Id : 4557344363 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When the coordinate axes are rotated through an angle of 45° about the origin in the positive
direction. if the transformed equation of a curve is 17x* — 16xv + 1732 = 225, then the
original equation of that curve is

Sarofothd Byrg VEFrHE ©ESned 45° S'0od® 567" @o BUSHYE 2.8 SES0
BE), HOSYS BDEFaSN 17x% — 16xy + 1717 =225 wond, & SES50 Bng), wden B

Sore) HDonESadn
Options :

< SETT . e -
| 2522 4937 = 225

Ox2 —25y2 = 225

L3

25x2 — 163y + H2= 225

Question Number : 44 Question Id : 4557344364 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The vertex A of a triangle lies on the lines x + v =1 and 2x + 3y =6. If the orthocentre of the

s e
triangle 1s 0[ % -T' ] . then the equation of OA in the normal form is

x+y=15008050 2x + 3y =6 Opon &f @5023dS50 A &0oinod. & @Hadn BnE)

48 89 _
©0280(¢5850 0[ = 7] 2008, @HoondrHos’ OA GBnE) HEEDM
Options:

xcosa+ysma=7. a'=Tan‘1%
4
: 13 _1[ 3
xcosa+ysma=——: a=Tan —J
V17 (4

L3

: 13 <
xcos+yvsma=—: a¢=Tan

4’ l[_l\/is_?l

. 13 z
xcos@+ysma =——: a=Tan l(4)

4 V17

Question Number : 45 Question Id : 4557344365 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the line passing through the point of intersection of the lines 2x+ 31+ 6=0.
3x—y—13=0 and parallel to the line 3x —4v+5=01s

2x+3v+6=0.3x—v—-13=002o oS Hothd MomFdr, 3x—4v+ 5=002%
ASroddomr o8 J880w JEGHIN
Options :

 Ix—=4y+75=0

) 3X—4y+15=0
 3x—4y+25=0
3 —4y-25=0
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Question Number : 46 Question Id : 4557344366 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If O. G. S are respectively the orthocentre. centroid and circumcentre of a triangle whose
vertices are A(2. 3). B(2.4) and C(4. 3). then AO” +9BG~ +4CS" =

H0501ren SHBm™ 0, G S 2003, AO®*+9BG>+4CS% =

Options :
77

| 36

A(2. 3). B(2. 4). C(4, 3) 25 3oeenm o o8 @ehao G308, ©02380|50, S0|BeTHS0,

L L2
[—
"Q' L

& | W

Question Number : 47 Question Id : 4557344367 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If two sides of a triangle are given by 332 — 5xv + 21> = 0 and its orthocentre is (2. 1). then
the equation of the third side of the triangle 1s

> PO 2 o & o — - c
3x° = Sxy + 2y° = 0 Soeddond Ogen 2.8 (§ghadn B1s) Todd gharen w@HEr, I°)

©0280|351 (2. 1) ®ond, & (GehHed) Soordsd gHedn DEdadn

Options :

, Sx-10p+1=0
2 10X+ 3P—=1=0
3 x—10y=21

4 10x+5y=2]

Question Number : 48 Question Id : 4557344368 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The equation of the pair of lines joming the origin to the points of intersection of two
circles 2 +17 —4x+ 8y +5=0and 2 +12+ 2x +4v—-3=01s

P+ -4+ 8y +5=0500050 ¥+ +2x+4y-3=0 NFo PoUs HotIHoOD
SarefoHhYs” Sendmr JGE Byradnd) Hdo86dn

lc
Options :

2 2
1 13x°+ 6xv —28v-=0

wv—282=0

-2

(x+4)(x-5)=0

(WY ]

1357 + 683y — 287 =0

Question Number : 49 Question Id : 4557344369 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the circle x* + 17 + 2gx + 2/4 + ¢ = 0 (¢ > 0) touches both the coordinate axes and lies in
the third quadrant. then the length of the chord intercepted by the circle on the line

x+_1'+\/;=0 18

X2+32+2gx + 20+ ¢ =0 (c > 0) =3 S)F0, VErHSFTODH DoB0EY HYBET, SordsS
F&0e5* &0, ._-‘-+_1-+J;=0 B & 5o BB arg DoY), SEY
Options :

2
lI lﬁc

L2
o

+
T

Question Number : 50 Question Id : 4557344370 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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If the shortest distance from (2. —14) to the circle x* + 12 + 6x + 4v — 12 = 0 is d and the

length of the tangent drawn from the same point to the circle 1s /. then I\fd +I=

(2.-14) $08 x2+37 + 6x + 4y — 12 =0 5508 Ko §IR Erdo d 518050 wS)E s ©7
£00Y SHod HDS Eﬁgcﬁﬁa} 26 [wond, Jd+1=

Options :
V.13

L2
2
by

Question Number : 51 Question Id : 4557344371 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of common tangents to the circles x> + v> — 4x — 2y + k= 0 and
1%+ 12— 6x — 4y + /=0 having radii 2 and 3 respectively. is

AV —Ax-2v+k=0.22+1*—-6x—4v+1=0 e aﬁgﬁfcgm S 2, 3 VoS,

T8 G5k HEope Sopg

Options :

4

()
12

Question Number : 52 Question Id : 4557344372 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The centre of the circle which intersects the circle 3* + 1> — 2x — 2y — 2 = 0 orthogonally
and passes through the point (2. 0) and touches the X-axis 1s

X +17 - 2v =2y - 2= 0= woaRyiSo BT, (2. 0) DoSHrromFSr 350520

gcollegeduniaa

—

X-wgrd) 9808 S)Esn B0 Soko

Options :



—-

L-a2

s

@1
1,9
(1, 4)

(2.-1)

Question Number : 53 Question Id : 4557344373 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If from any point on the circle +% + 12 + 2gx + 2y’ + ¢ = 0. tangents are drawn to the circle
o o soamh g e Tkl T :
x“+y +2gx+2fy+esma+(g”+f°) cos‘a=0, O-Ca'a? then the angle between

those tangents 1s

3 . e 7 "
-+ + ZQT ~+ Zﬁ' 3 =) il 0 ?:"3 &’)‘*,-:50_2';} &Oa D QOCSJ@:)JOQQ_"‘,
# [ - - i) - .

e

> +1% + 2gx + 2fv + esin®oL + (22 + f2) cos’a = 0. ‘ O<a<—

Dope SEgE00

Options :

.

g

4

w | N

Question Number : 54 Question Id : 4557344374 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the double ordinate of the parabola 12 = 8x is of length 16. then the angle subtended by it
at the vertex of the parabola 1s

12 = 8x HorSea5SEM BwE). BL-y-V8rH80 ardy) 16 2008, ¥d HorSOoHo G308,

%“qla’m 56 235365 8§ 205
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Options :

2| X

(OS]
¥

Question Number : 55 Question Id : 4557344375 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If P and the origin are the points of intersection of the parabolas 12 = 32x and 2x*> = 27y:

and if 0 is the acute angle between these curves at P then 5y/tan & =

¥ = 32x, 2x% = 27y 3 Hoedeoire pods HodhPen P Hdan SireodohHoHEr,

P3G & Sgre Sdg fo odns'no Gwond, edvd SVtand =

L
)
™

Question Number : 56 Question Id : 4557344376 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the latus rectum of an ellipse subtends a right angle at the centre of that ellipse. then the
eccentricity of that ellipse 1s

a8 BF 5HES0 BoE), THoowdn, & BY S SoBs» 5§ voasnpdn B, & HY,

s —_ —
)EDN DNE). &) o5
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L2
2

J10-25

Jio+245

4 5

Question Number : 57 Question Id : 4557344377 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the tangent at the point (1. 2) on the ellipse 3x> + 43> = 19 is also a tangent to the
parabola 1> — kx=0. then k=

. " = ~ ) . . ’ |
5%_@;15;&333 3x+4v" =19 (L. 2) 58 HodardsS SN EBD, 12 — ky = 0 S50 05H 558
SrE f):lq;'c"jgp wons, k=
Options :

57

16

57
64

=

57
, 64

Question Number : 58 Question Id : 4557344378 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

[ ]
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If the equation of one asymptote of the hyperbola 14x% + 38x1+ 2012 +x— Ty =91 =0 is
7x + 5v— 3 = 0. then the other asymptote 1s

14x% + 38xy + 200° + x — Ty — 91 = 0 & HrD0B w&SorSoohHy) wod HEPpes®

L8R HAEGSN Tx + 5y — 3 = 0 wond, BodS wlod Yo

a
Options :

 2x—4y+1=0

2x+4y+1=0

Lo

2x—4v-1=0

2x+4v—-1=0

Question Number : 59 Question Id : 4557344379 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the nud points of the sides AB. BC. CA of a triangle are (1. 5. -1). (0. 4. -2). (2. 3. 4)
respectively. then the length of the median drawn from C to AB 1s

w8 (@ehadn BNg), oy AB. BC. CA o gy Doy 563 (1. 5, -1),
(0.4.-2).(2.3.4) e @003, CHrod ABS ficHads Sgghd B ¢

Options :
2

ll -9

s V27

%

h

Question Number : 60 Question Id : 4557344380 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

gcollegeduniaa

el



; T ; : ; .
If a line makes angles % and — with Y-axis and Z-axis respectively. then the obtuse angle
o

made by that line with X-axis is

.JT .zT
28 O Y-2550 $0005n Z-wgSned® Fo5n §adnen S6Hdm S 508050 — @oRE,

3
s O X-20E508 Io0d =58 Fodn

Options :
v/ 4

Question Number : 61 Question Id : 4557344381 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the plane bisecting the line segment joining the pomts (2. 0. 6) and
(—6. 2. 4) and perpendicular to it. 1s

2. 0. 6) 308050 (—6. 2. 4) DodoHod O Ty~ DOT V) 5333535@0&25 *3263 0 T8
00T G0B S0 cﬁwéb SaE80
Options :

1 2x—y+4z-15=0

), 4x—y+3z-6=0
3 Ax—y+z+4=0

4 X—2y+3z-11=0
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Question Number : 62 Question Id : 4557344382 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I 1\/1+15u11 —Jcosx

x—0

Options :
D

12|

L
= | W

o | @

tan 2x

Question Number : 63 Question Id : 4557344383 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the function fdefined by f(x)=1

. ‘ 2 2
where o and 3 are real constants. is continuous on R, then o~ + ==

fcosx if x<0.
Ix+a if O<x<2.
Px+3 if 2<x<4
11 if x>4

o fen 78S YurosToonSHyEd

fx) =

m Q0%

Options :

)
O

LA

ﬂ-l

(cos X x <0 =o0na

3x+a . O0<x<2=ona

Px+3 . 2<x<4 =008

11 . X>4=0nd

$305 fol Eoahdn R cé‘ﬁﬁia o+ 2=
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Question Number : 64 Question Id : 4557344384 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

| | | [1+%, 0<xs2
If f:[0.3]—[0. 3] is defined by f(.\')=13 T
—x, 2<x<3

then fof 1s

2

‘  [14x. 0<x<
£:[0.3] [0, 3] &3 EHaso f(-r)={3:. .

A
-,
I
)

m AED0BNEB, 0N fof ©36
Options :
Continuous atx=1

x=1358 @.—:‘-.‘I}f&w@aﬁo:}
: Y

1 T

Continuous atx =2

x=2 ;’Jg E-f)fbf}i&ﬁ)i

L-2

Continuous on [0, 3]

| [0. 3] SHINRS

Question Number : 65 Question Id : 4557344385 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If /: R— Ris a differentiable function such that f(x +v) =f(x).f(y) forall x. vy € R and 1f
f4)=24and f(0)=3. thenf(4) =

f:R— R@doho edodoho vPhdr & x, y € RE flx +¥) = f(x)f(») 518050
f14)=24.1(0) = 3 908, wiyd f(4)=

Options :
y 72
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Question Number : 66 Question Id : 4557344386 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

i[xmx +(sinx )I} =

dx

Options :

inx| SINX - ‘
L sin [ +cos xlog 31 +(sinx)" [.T tan x + log(sin x )]
.
1

SN X

e [xtanx+cosxlogx]+(sinx)’ [
X

+log(sinx )]

L2

Y X ; X "
X [ +cosxlog .1] +(sinx) [.rcor x +log(sinx ):|

4 STIRY
x| sIpx |-
- g [ +smxlog :rJ +(sinx) I:.T cotx +log(cosx )]
X
4.

Question Number : 67 Question Id : 4557344387 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

7
- . d’y
Ifx=a(f+smf)and vy =a (1 —cosr). then p A
X
=
T & B
x=a(f+smi)00a3n ¥y=a (1 —cos’)=ona, e
<
Options :
1
. I
4asin’| —
Z

[ ]
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L2

£ 4)
4a cosec4[ = l
3. ey

%

!
4nsec4[-—k
Wl

Question Number : 68 Question Id : 4557344388 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

' g,
If O1s an angle between the curves x*+4y=0andxv=2.thentan 8 =

x4 4y = 0508050 av =2 «3 e 506 fie 2.8 500 G=ond, tan O =

=

>
)

Question Number : 69 Question Id : 4557344389 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the function f(x) = x> + 2px? + 27x + 16 is strictly increasing for all x € [R. then the range
of p1s

e «,‘ -—-3' A.'I_,_ - - T-;m_‘: L — i
©& xe R § @daho f(x) =x" +2px~ + 27x + 16 HY 8557008, p Bos), g%

Lr
J—

Options :

r —9) (9
-0, — U[—T t
2 L2

T —

[ ]
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y, (=0, =9)U(9, =)

" -9
'7 &
3. ! d—

9 | O

3 =2:9)

Question Number : 70 Question Id : 4557344390 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

It f(n‘)zxfn_' and g(.r)=% for IJ:E[S. 12]. then the value ofrc £(3.12) for which

\

f(c) JTU2)=73)
g'lc) g(12)-g(@3)

holds. 1s

1t[3 1'!] § f(t) \F o880 (1)—% 50003 ::Ej;:iﬁi;:éﬁ; gi}scﬁ}goé‘

ce (3.12) B8 Jens

Options :
'

4.8

L3

Question Number : 71 Question Id : 4557344391 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the distance s described 1n time °7° by a particle moving on a straight line 1s given by
s =1 —40F + 307 + 807 — 250. then its minimum acceleration is

2,& 8200 2.€ 380 Boad ‘F 5005 FH Sr8o s5 5= —40P + 302 + 80r - 250
A, & 20 BNE), $1Y EQBBN

Options :

260

» =260

gcollegeduniaa

el



3 130

4. =130

Question Number : 72 Question Id : 4557344392 Question Type :

Optiun : No Dptiun Orientation : Vertical

fo I—I+I thenjﬂ(x) =
21 +1
1+1 .
I—r+1 2000, Jg(.r) ax =
\ 2f+1
Options :
2
X
—+c
¢ 2

1
loge(2.1‘—1)+:loge‘(.1‘+1)|+c

L3

llo X431 | l
3. 2 \ 2x+1
§+ilog€|2x—l|+c
4 2

MCQ Display Question Number : Yes Single Line Question

Question Number : 73 Question Id : 4557344393 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

3

x> —9x% +18

J 5=
X —3x"+3

Options :

2

X 2
—+ .1-3 +6x"+¢
| 4

r x
—+—+6x+c

, 5 4

5
=
—+x3+6x+c

E 5

-

el
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5
——+6x"+cC
=

"

Yox
5

4

Question Number : 74 Question Id : 4557344394 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

ax=

e x? +1
J 1+ x°

Optiuns -

| Tan™ [ x> ) +Tan "x+c¢

1 = v
ETan 1.‘1’+Tﬂll 1:!.'3 +C

L2

1

3Tan .1*3 +Tan"'x+c¢

K 1 Y
Tan 1.1' +—Tan 1.1'3 +cC

" 3

Question Number : 75 Question Id : 4557344395 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

| (log x)’ X’dx =

Dptiuns:
g 3
1 X 0]
o —( 08%) —l(logx)'+llogx—
12 6 6 3
l. .
_(1021')3 1 logx 1
g [ ) IR TRV o8 a8
6 18 12 36
-1 |
x° \logx) - 1 (logx)"—lo“'1+ l
6 12 2 36
1; L
5| {logx) _(10g3'12+10g1'_ 1
' 6 12 36 216
4 A

+C

+C

+C
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Question Number : 76 Question Id : 4557344396 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

; [ 30 "?2 .I
lim||1+— l —
\ R

n—w

1+=
. 7l

(1

Options :
74
3e

7
[ =

L2

Question Number : 77 Question Id : 4557344397 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

x
_.‘ 3 COos Xdx

0 V1+cosysinx
Options :

J.”_Cos_l l :
. \

-~
o

A3,

—=Sin~

V2

1 1[, 1 l

12

\E Sin~! ‘ % l

| .\ESin'l ( -JE)

Question Number : 78 Question Id : 4557344398 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The area (in square units) bounded by the curves y = 2x? and v = Max {x —[x]. x + [x]} in
between the linesx=0andx=21s

X =0 508050 x=23pe HGE ¥ =2x>585» ¥y =602 {x—[x]. x + x|} =3 Sgos
HBgBddg @rodo Frrogo (SE8H 0hrddyes’)

Options :

4
. 3

rD | -

o ]

2

Question Number : 79 Question Id : 4557344399 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2 2
: : ; : O .
If @ and b are arbitrary constants, then the differential equation having —+ b —=1 asits
I
general solution is
TE 1,2
a.ben SAAN A R0°0S"OONA, —,,+b—,, =1 &% F6 FEIMT EOAS 5808 St
, 2 g3
O]:!tions:
2 2 3
[d;-] |y (fh X
dx’ dx
i J
2
2 nd-v ah
b= ——2x—-—y=0
, dx” X
3 £
d=a ( dh ] dv
p—a x| =y—=90
s dx° dx dx
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+2x——2y=0

-~

-,
b

Lk

Question Number : 80 Question Id : 4557344400 Question Type : MCQ Display Question Number
Option : No Option Orientation : Vertical

. : , dx ox .
The general solution of the differential equation R +—=X 15
L >
dx x v, Z R - 2 S L L
—+—=x" 23805 JD8J0 ABNE). TP TP
dv v %
Dptiﬂns $
|
—=cx—vlogx
1 2
|
—=cy+xlogx
s X
|
—=cv—vlogy
3 X
—=cx+ vlogx
4, 2
Physics
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344401 Question Type : MCQ Display Question Number
Option : No Option Orientation : Vertical

: Yes Single Line Question

: Yes Single Line Question
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If ‘A’ represents Boltzmann constant, ‘B’ represents Planck’s constant and ‘C’ represents
speed of light in vacuum. then the quantity having the dimensions of A* B C2 is

‘A ?3"&:23’135 %moém;’.}x ‘B’ &rof§ Q0r0850& SHdadn C %J‘:SSOQS‘ 5708 S& Hrd:
=3
A% B3 B0, dMene o°3

Options :
Universal gas constant

L]

)

}

OES a5 ﬁgmoéo

Specific heat capacity
LT 23! @fa’nggo

L2

Stefan’s constant

Heat energy
Q78

Question Number : 82 Question Id : 4557344402 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The motion of a particle along a straight line is described by the function x = (27-3)
where x 1s in metres and 7 1s 1n seconds. The acceleration of the particleat7=2 s 1s

2.8 H6¢0p Joad KHSos”® o Sdn BHnE), o) x=(21-3)? HD0H0S HrNHotBSH.
Q8 & x HLFS®, DEDOS” o, 1=25 5§ s BwE) #0600
Options :

1 1 ms™

4 ms™

L2

2
3 8 ms

-
4 7 ms

Question Number : 83 Question Id : 4557344403 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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. . : L= - xv/3 :
A particle moves in the x-y plane with velocity V' = x7 + v7 j : At f = ——. the magnitudes
5

of tangential and normal accelerations. respectively are

'~ A - 13
08 §00 V=xi+ytj 30F x-y do0e5® $50508. ,«:i LoD TV H5)0H
rn‘?

a

S0B0%n =Heoe éﬁgcﬁf;a'-‘t) HOSIToTey SHJM

Options :

By

v
"9
1I 2 —

3

Lo

Question Number : 84 Question Id : 4557344404 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : The speed of a body in uniform circular motion is constant.
Reason (R) : In uniform circular motion. the acceleration of the body is constant.

Dhgo (A): 2868 SHEsd Sosos® o el 55 B0, 5& REom €0k
5020 (R): 2868 S)I75°0 ooy, w8 SHH Bng Edpo Yo G0k

Options :
Both (A) and (R) are true and (R) is the correct explanation of (A)

, (A). (R) @0 Bodk &g 528030 (R). (A) 8 838 DHG=0

Both (A) and (R) are true but (R) is not the correct explanation of (A)
. (A). (R) &0 Bodh 3¢50 570 (R), (A) 50 388 582 52
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(A) 1s true but (R) 1s false
& (A) 5850 50 (R) eodefgain

(A) 1s false but (R) 1s true
i (A) 038550 570 (R) Sebgadon

Question Number : 85 Question Id : 4557344405 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

One end of a light string 1s fixed to a clamp on the ground and the other end passes over

a fixed frictionless pulley as shown in the figure. It makes an angle of 30° with the
ground. The clamp can tolerate a vertical force of 40 N, If a monkey of mass 5 kg were to

climb up the rope then the maximum acceleration in the upward direction with which 1t
can climb safely is (g = 10 ms™)

H0BNS* Srod o 2.8 BISH & D 2.8 DSE Jod° 30° 800 T Ao &8 57098
HA0D BodS DS6K dd B 6 §5) oo X0anH. 5705 40 N §82 eow werd)
503008, (855078 S kg e e §8 ad JItoHdns® gSoom D8 I8 IBHN) =g HFS®
'R 1109 &cdzadn (g= 10 ms™>) |

T L EEETELEL T4

Options :

2 L

iy
4 ms™

L2

3 6 ms™

Question Number : 86 Question Id : 4557344406 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In the arrangement shown 1n the figure. 1f the blocks of masses ‘m” and ‘2m’ are released
from the state of rest. tension in the string 1s (1 = coefficient of friction. string 1s massless

and inextensible, pulley is frictionless)

HOSNS® IrHwds ©H0ES® fo ‘m’ HHdon 2m’ GSgorden o HFoH Hovd 8
0@ e TR, TESNS D S558 (U= Dodse Ha8dn, KBS0 B So8osn FHH%

DenBA 850, HHERB 5‘333).

Options :
I8

, V2 mg

. 2ﬁmg
3 3

. \Emg

5. 3

Question Number : 87 Question Id : 4557344407 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

-

—
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A stone of mass 2 kg tied to a light mextensible string of length ; m 1s whirling in a

circular path in a vertical plane. If the ratio of the maximum tension to the minimum

tension in the string is 4. then the speed of the stone at the highest point of the circle 1s
(g =10 ms™)

; |
2 kg 8555078 He> 2.5 Tmo0d 3 m FEDH Ko THBIHNLE DB BOBS & 28 HBEH
8§43, PR f)Erst0 Srgoss” Jend Soos® SIND. &he™ H0R Hdasn I SSgse
DS 4 ©ond Syfo &FDHoBY ¢ oron 38
(2=10ms?)

Options :

1 20 ms~!

| 104/3 ms™!

L-2

5 J50 ms™

4 10 ms™?

Question Number : 88 Question Id : 4557344408 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A ball falls freely from a height of 180 m on to a hard horizontal floor and repeatedly
bounces. If the coefficient of restitution 1s 0.5, the average speed and average velocity of
the ball before 1t ceases to rebound are respectively

(Acceleration due to gravity = 10 ms™)

180 m 2 $o0D 2.8 5P gHT &8 §8z 57080 (Y Soop HB WIETR LTS
SABB. HEGELS HE0 0.5 wond, DHOREE BHSHBE © 55 SK0 58 5608
Jifen o SHdm

(Hrdofs Scd00= 10 ms ™)
Options :

; 10ms™. 10 ms™

50 ms‘l.? ms™}

)
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q
% ms~!, 10 ms™

3
20 : 50 1
— ms™, — mSs"
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Question Number : 89 Question Id : 4557344409 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A circular disc of radius ‘R’ 1s removed from one end of a bigger circular disc of radius
‘2R’. The centre of mass of the new disc 1s at a distance ‘0R’ from the centre of the
bigger disc. The value of ‘0" 1s

‘R’ mg#dém e 8 Naso i}%:&: ‘2R’ mg#dén e 2.8 é‘)@?d 28 £J¢.;! 2.8 Dl
D e —o o —o &

D0d FoRoNTE. DY HY) Sotd Hod §FE HY) D), (B550°8 Sosn drdo ‘oR’

00N 0L dend

Options :

1

ﬁ

L3
G | =

L
o

Question Number : 90 Question Id : 4557344410 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In the figure shown. acceleration with which the mass ‘m” falls down when released i1s
(consider the string to be massless. g-acceleration due to gravity)

HOINS® SrDd wHdEs®, |KSgoed ‘m’ H Ide BISHYD, «b §ohs IBSHB
002050 (BS50°8 Gord TPES0& &5rohE s, g - Nt Scdobn)

883
Hollow cylinder .
o0 BB "
String
TEEH0
m

Question Number : 91 Question Id : 4557344411 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Att=0. a particle executing SHM with a time period 3 s 1s in phase with another particle
executing SHM. The time period of the second particle 1s T (less than 3 s). If they are
again in the same phase for the third time after 45 s. then the value of T 1s

3 s BoTsds sood® S66Fod) Sodo BR) &8 §20 I6¢ FTod)E Sodo D)
558 §2008" t=054 &8 B¥S° &ob. Dok Ew0 s5dS seoo T (3 s §oB S8y.5). ©d
Sodr Sader 45 s SHad SordST0 2.8 $¥S° 08, T Hend

Options :
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Question Number : 92 Question Id : 4557344412 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body 1s projected vertically upwards from the surface of the Earth with a velocity

sufficient to carry it to infinity. The time taken by it to reach a height of three times the
radius of the Earth 1s

(Acceleration due to gravity = 9.8 ms™ and radius of the Earth = 6400 km)

2.8 SRS w508 Sroeds EHEI IHLH 750 fod” erdoo Sod §8z voworr
28 Do, g g EE Sarddd By Ko KB BHLS & SHYPSH Hiy SO0

(d)d:éS 9556990 =9.8 ms2 5080350 2 mgfr-*go= 6400 km)

Options :
44 .44 minutes

1 44 .44 Hdaren
22.22 mmnutes

18.76 minutes
3 18.76 &doaren

b

37.52 minutes

37.52 Qaoaren

Question Number : 93 Question Id : 4557344413 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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. ‘ o .
A copper wire of cross-sectional area 0.01 cm- 1s under a tension of 22 N. The decrease
in the cross-sectional area 1s

(Young modulus =1.1x10 Nm™ . Poisson'’s ratio = 0.32)

0.01 cm? 50‘583:35 JTogo Ao &8 ocAdE 22 N S5580 MO8 ®000dH. o°Q
DEgIEFTogins® dse

(0$20f o280 =1.1x10" Nm=2, =S 28 = 0.32)

Options :

, 0.128%107° em?

128<107% cm?

L2

12.84107% cm?

s

4 1.28x 1079 cm?

Question Number : 94 Question Id : 4557344414 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a soap bubble of radius 0.2 mm 1s charged. 1t experiences an outward electrostatic

5

o
pressure of magnitude E where ¢ = 20 uCm is the surface charge density. If the

—

excess pressure inside the soap bubble due to the surface tension 1s same as this electrostatic
pressure. then the surface tension of the soap solution 1s

(6,=8.85x10"2C2N"m™2)

=
o2
2¢, ®
DES HO3,rDE 550058, Q8 & 6 =20 u(’.m'iI 230 &H0Se e3f ro|ds. & ?gnﬁ
5)63355536350: éa}ér‘ﬁgé DN &ﬂoégéom z:'nanh\ e 515e5°0) 2HE HETO8 3’33’13“2‘3@237 E’:m;f&éﬁ
éoét‘()gé

0.2 mm a“gﬁ‘go e Seayy e S533E0 DOSHEH @ zﬂ’mg&%@ *cf Qoges

(€o=8.85x10"2C*N"'m™?)

Options :

| 8.85x107* Nm™
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, 12421074 Nm™!

-2

| 11.3x10~* Nm™

(W N]

4 90x10~* Nm!

Question Number : 95 Question Id : 4557344415 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The temperature of a spherical black body is inversely proportional to its radius. If its
radius is doubled then the power radiating from 1t will be

.8 o5l 53 3Y SIS T rgrdInds IS ErHTrdos” &odood. s SHJ
mg&gm 0&j03) oS T SHolk FenSB &G #5}%&&5}3

Options :

Doubled
L dododen 2HHoh

Z times of mnitial value

1
RE DeNNH E D D0 Lo h.
2.
Halved

3 Do Hhod

4 times of initial value

4 3068 HendE 4 0L wHsHod.

Question Number : 96 Question Id : 4557344416 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A metal sphere immersed in water weighs W, at 0 °C and W, at 50 °C. The coefficient of
cubical expansion of the metal is less than that of water. Then

a8 STy o) 28365 SnoDSHE 0 °C 3¢ o erdo W, S0a3n 50 °C 5§ W,
S8 SH0Sree argSihago oS T 8 #8085 ©0o20S
Options :
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Question Number : 97 Question Id : 4557344417 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A reversible Camot heat engine converts Eth of its mput heat into work. When the

temperature of the sink is reduced by 50 K. 1ts efficiency becomes 33 —%. The initial

3
temperatures of the source and the sink respectively are
: : 1
2,8 &18) 0909 515:1 €3 0D0E0 B3 V¥ G505 &5* —5 &) DO gTR) DIM ardyieniheédod.
: ]
ord derdado eafied 50 K 84y & ohogo &8 3 ; ©Y0h. TPJ SLIOD

D0S» Fderdod &0 SIS IHJIm

Options :

600 K. 550 K

—_—

600 K. 450K

1

300K. 150K

Led

, 450K.350K

Question Number : 98 Question Id : 4557344418 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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An 1deal monatomic gas 1s carmried along the cycle ABCDA as shown in the figure. The
total heat absorbed during this process 1s

a8 S60) 28 HSre08 70500 ABCDA HSio Iond Sboes® o e M
&8 IFBHL0b. $ BEoHS® Fhwo sads Indgo o

Pa
;- ol S—— B__,,_ C
. '
1 I ‘} Vi D
: :
| I
I | i >V
Vo 2V,
Options :
| 10.5 PyVy
, 7.5 PoVy
. 2.5PgVg
, 1.5PgV;

Question Number : 99 Question Id : 4557344419 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of the speed of sound in a monatomic gas at 27 °C and rms speed of the
molecules of the same gas at a temperature of 127 °C is

27 °C said S o 855,08 arasndeS* ¢gd B8, 127 °C aid 3§ fo «3

TS0 BNE), wmHe rms S8 o DG

Options :
1. Yo
2 A/5:4/12
3 3 :4
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Question Number : 100 Question Id : 4557344420 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two uniform stretched steel strings A and B are vibrating under the same tension. The

first overtone of A 1s equal to the second overtone of B. If the radius of A is twice that of
B. then the ratio of the lengths of the strings is

&8 S558&° FHBoHBAS ASB05» B w3 Bok 2868 &8y Gifen §oHdyamon. AGNE)
0843 E-ééogdaﬂ)m Bms& DoHd ud 355015\}@ DAFESH0m &@&n. Aﬁgﬁﬂga‘bm Baﬂgﬁrcgﬁjé
00 Bl 408 & Bod & FEIho NS

Options :
1 243

-2
[
o

3.1:3

Question Number : 101 Question Id : 4557344421 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A open pipe of length ‘/" is vibrating in 3td overtone with maximum amplitude ‘A’. The

/

amplitude at a distance of y from any open end is

I 8H o BSOS ALHDN SordsS @é;’:ﬁgdéxaé" K03 0BS HOW& A& §020BHDHB.

/
Q0A w8 BEAS 55 SHod Ed}“da‘in S §02S HONE

Options :

| A

L2
-

A
3 V2
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Question Number : 102 Question Id : 4557344422 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Magnifying power of an astronomical telescope for normal adjustment 1s 10 and length
of the telescope 1s 110 cm. Magnifying power of the same telescope when the image is
formed at the near point 1s

Sore éd{gw@e‘i‘ PAY Sr880)Q a_:,;sgssm 10, Sr8658)0 &rs) 110 em. [0D Doy
D8 PE&Howo Z)cﬁ;&ééa’g)cia, nvelale)ty gégéo

Options :

1 14

18

L3

3:.23

4. 26

Question Number : 103 Question Id : 4557344423 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In Young's double slit experiment. the two slits are illuminated by a light beam consisting

of wavelengths 4200 A and 5040 A. If the distance between the slits is 2.4 mm and the
distance between the slits and the screen 1s 200 cm. the minimum distance from the

cenfral bright fringe to the point where the bright fringes due to both the wavelengths
coincide 1s

a%0f 2od) Hos PArHos D otk HOeH 4200 A S0805» 50401&&60:‘@0&50& go
28 5708 Hozo DALY Bk, DO Hdgirdo 2.4 mmSHBasn HOEHS BEE Hrdgirdo
200 cm ®003, S0BoH (HgdSIoH HE Hrod Dok SBoRBT O IO IRE KH5SS00H
580 DefDotH DotHE Ko §3H E60 |

Options :
0.7 mm

.1'411““

L2

2.1 mm

Ll
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Question Number : 104 Question Id : 4557344424 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Flux coming out from a positive charge of 8 C. placed in a medium of dielectric
constant 4 1s

558 oao"*oééa:a 4 Ko 2.8 oS5rS58510e5* o) 8 C Sa7addn SHrod 22578850 2008 eda S

:‘-'

Options :

1

2 €,

2

=)

L3

SEO

32 ¢,

Question Number : 105 Question Id : 4557344425 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two charged particles each of mass 9.8 g and charges + 20 uC and — 20 uC are attached

to the two ends of a massless and rigid uniform non-conducting rod of length 50 cm.
This arrangement is held in a uniform electric field of 12.1 NC~! such that the rod makes

a very small angle with the field direction. If the rod is set free. the minimum time
needed for the rod to become parallel to the direction of the electric field is
seconds.

50 cm FEH Heo 2.8 3985 J000% B)EDS 808 wairs §§ S0 DIGe 2,57,8).E3
9.8 g © (5078 Ko + 20 pC Sodasn — 20 UC =Hzen Ho Dok =3Fydd Sorad
GoTd. & SgH0d 12.1 NC 12568 DeSgS Bioss”, é@ DS S HES' Trer S8 S
8200 T dorr GoTd. §30 Mg SHOBLHoNEB, §§ DS TE HISE Sy
D) S Daoo __ WED.

.|ﬁ

.-"

Options :
{23

7 8
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Question Number : 106 Question Id : 4557344426 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four capacitors of capacitances 2 UF. 3 uF. 4 uF and x UF are connected to a battery of
emf 6 V and of negligible internal resistance. as shown in the figure. If the ratio of the

charges on x uF and 4 uF capacitances is 3 then the value of x 1s

2 uF. 3 UF, 4 uF 558050 x UF 3F0@Q)en fie srenth sarddds RIS lelsirlalit ©040)5°¢0
2803» 6 Vemf Ao af erghbs® Hod" Srad Iomr §OFE. x UF $0050 4 puF

3
STrHbdn siTe ANG 5 ©00d X DN
X UF
| |
||
| | | |
| | |
3 UF 2 UF

4 uF
| |
| |
| |
| |
6v

Options :

1.8

7 3

3 3

4 8
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Question Number : 107 Question Id : 4557344427 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The plates of a parallel plate capacitor are charged upto 100 V. A 2 mm thick insulator

sheet 1s mserted between the plates. Then to maintain the same potential difference
the distance between the plates is increased by 1.6 mm. The dielectric constant of the

msulator 1s

HSrods HSefe 3FHs5 100 V 565 =s3430a8. 2 mm oo Ke 3)65055 22008
2085 Srotd dofe ::r:ﬁg Gowrd. HoEe sﬁacﬁg 53"&3,310‘53&5 G0 Godirds ss
nefe A’JJC.SS Sordo 1.6 mm DoTrd). oS 36&55 Ealelal-{e cﬁ:oégj 558 'fgo-oéo

Options :

1 6

L3
o0

Question Number : 108 Question Id : 4557344428 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the given circuit, current I 1s mndependent of the resistance R,. Then

RENS Soohoe, gl TDens, G ES0 Ry soidB%. @00

Rs
YW
I X

Ry R3

—W———

Rs .
Ry Ry

Options :

R R, R=RyR R,
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1 1 1 1
+—= ~
R Ry Ri+tRy R3+Ry

L-2

| R\R,= R,R,

RiR;=RyRy

Question Number : 109 Question Id : 4557344429 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A fuse wire of radius 0.2 mum blows off with a current of 5 A. The fuse wire of same
material but of radius 0.3 mm will blow off with a current of

0.2 mm argargoio o8 gl &6 5 A DSgS Harirod’ 5dFSH0b. ©B HTrdos® BHS

0.3 mm argrgotie Frgf 81 sdF o008 sS0dS H&gS Bairo

~

Options :

=
",
.1
1. -

53

A

N

—= A

Question Number : 110 Question Id : 4557344430 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A circular loop and an infinitely long straight conductor carry equal currents. as shown
in the figure. The net magnetic field at the centre of the loop i1s B, when the current i the

1 B,
loop is clock-wise and B, when the current in the loop 1s anti clock-wise. Then B. 1S
= g

H8065° Srod o, wE HFEE ord $HO0IN BIoENS FdY o af 8HI oL
JSI;rIFS DgS PariTrfod EO0 &aon. ord & Pararo JS§HFS” GHHyd ord
Boo 3¢ Heo V88 wohamod FEo B; H0» Pardro @3Sy H¥S° &HHvd B,

Ogtinns z
15
l . l 9

L2
o
N

Question Number : 111 Question Id : 4557344431 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two circular loops of diameters 0.6 cm and 40 cm are kept coaxially with a separation of
15 cm between their centers. If a current 2 A flows through the smaller loop. the flux
linked with the bigger loop is (approximately)

0.6 cm 508050 40 cm argFren Heo Do SEs 6 &1 e a4 Sogren 15 cm
BrE0eS* Goddin SFgormr wHhonyd. 2 ADGgS PBarirdn HE) K o B,
DG BSHHE wofEHTDg whariro (Hdrdomr)

Options :

| 9.0x10711 Wb

- 0.9<1071 Wb

L2

1.8x1071 Wb

Ll

4 2.7%10°11 Wb

Question Number : 112 Question Id : 4557344432 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the magnetic meridian of a certain place. the vertical component of the earth’s magnetic

field 1s 0.3464 G and the dip angle 1s 30°. The horizontal component of the earth’s magnetic
field at this location is

2538 03 NBFY w0 0805rArgds Soos® #r woham o o §82 o =odo
0.3464 G H00050 wI3Trd 500 30° & Hafo & & wohiaod §do §&2 SSrods

©@0F0

Options :

1.04G

106G

L-2

5 076G

4 08G

Question Number : 113 Question Id : 4557344433 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A current carrying circular loop is perpendicular to a magnetic field of induction 107 T.

If the radius of the loop starts shrinking at a uniform rate of 2 mms™, then the emf
mduced in the loop at the instant when its radius 1s 20 cm will be

w8 DS Pardrdng) SEsd sr 1074 T 3o Ko wohHay,0d BE 8 oo
&08. BRDY agrdSn 2 mms~ €68 DS’ SAFIHL @609HoNSE. ®ond T
TgrgSn 20 cm 8HYE, BESHYS® (BSS000S S T8 weo

Options :

0.02mpV

—

0.08TuV

L2

0.03 TPV

(WS ]

, 0.05TuV

Question Number : 114 Question Id : 4557344434 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A resistor and an inductor are connected in series to an ac source of voltage

. : Py ; 2
150 sin (100 &7+ ) volt. If the current in the circuit is 5 sin ( 10071+ ry

5\

ampere then

the average power dissipated and the resistance of the resistor are respectively

S88 150 sin (100 &t + ) §F Ko 28 Isrodd 255708 a8 H6'¢s Q) Sobofn 2.8

XY =
: J 2509005 woN

(265°Q) @BS* §OTF K. S00H0e5*D DSogd Hariro 5 sin [ 10077 +

,

d:doggodaé:dijg DD @*&’nggo 08050 Q8BS0 cﬁJsgzr D680 S8

Options :

187.5W.30Q

—

187.5W.15Q

L-3

375W.30Q

[ WS

4 375W. 150

Question Number : 115 Question Id : 4557344435 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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An electromagnetic wave of frequency 45 MHz travels in free space along X-axis. At

some point and at some instant. the electric field has a maximum value of 750 NC!
along Y-axis. The magnetic field at this position and tume 1s

45 MHz &Fd:)eg0 o 2.8 ddoges ©0a708 $6oAD0 %J“.-‘Sgoe‘i‘ X-280 Joad
05,808, &8 HoMY I 2.8 gwoes* 750 NC1 5838 858 Ko 2858 o Y-wEo
BES® 0%, &5 §0065", &3 PSI0 HG a0 B8 H0Sreatn Hodasn HF

Options :

| 2R T

5x10%; T

[

25 % 10°%¢ T

4. 25 %1095

Question Number : 116 Question Id : 4557344436 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When light of frequency ‘1" incidents on two metallic plates A and B. photo electrons are

emitted. If the work function of A is more than that of B, the cormrect curve of the following
curves drawn between stopping potential V' and incident frequency “v" 1s

A 5803» B 23 Dok STFHede 2V TFRING0 O 5708 D850 BOBINYE 5708
JOFTID IHBASD. A BnE), H0 PHoHo B Bwg), HHD0 $o8 whHETSHE
NE°GE FHA0DS V' B 0B0In FI)Sgo v B D find JFros® S80S SFo

Options :
o

/s

1. v
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Question Number : 117 Question Id : 4557344437 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The approximate value of principal quantum number for a circular orbit of hydrogen
atom of radius 530 nm 1s

py - e © 4 ’ e T . R v DN (AT = A -
530 nm §§7§ aﬂﬁ:rgo e @50 SOV @ e HTITIE DTN 5300 Sopg
PO
Options :

| 26

100

[

3 200

Question Number : 118 Question Id : 4557344438 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A radioactive element ‘X" converts into another stable element Y ". Half life of X 1s
2 hours. Imitially only X is present. After a time ‘t". if the ratio of atoms of X toYi1s1: 4
then the value of ‘t" 1s

28 '6&03:“5“555 reso ‘X' oS Egd refo Y e ardshodh. X ﬂsgéﬁé 570
2 fotren. Bnydnsd X Irgd &858, ‘t'seo dogd X Hodoin Y HdSrmnde g
1 :4 008 °f ded
Options :

2 hours

1 2 fodren

4 hours

4 fodren

L2

Between 4 hours and 6 hours

; doben Hboin 6 fodreon NGy FoES

6 hours

4 6 Hodren

Question Number : 119 Question Id : 4557344439 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following List-I and List-II

A)
B)

List -1 List - II

Small Scale Integration (SSI) I) Logic gates < 100
Medium Scale Integration (MSI) II) Logic gates > 1000
Large Scale Integration (LSI) III) Logic gates < 10

C)
D)

§od

A)
B)
C)
D)

Very Large Scale Integration (VLSI) IV) Logic gates < 1000

Q3e0ds der -15 wde -1 & 28856550

e -1 ia - 11

DHBET Sdrsodsn (SSI) ) &6, ogoren <100
$EgSEE® Sdrsessn (MSI) ) &6 ogoeen > 1000
el S8 JSrgedsn (LSI) III) &) ogoren <10

D g0 $635° ddrsolssn (VLSI) IV) &4 ooren < 1000

The cormrect answer 1s

SO HEFFTHB

Options :
A

I

A
2, v

A

I
3

A
4 I

B € B
m 1 Iy
B e P
y H I
B C

IV IOI I
B € D
i IV

Question Number : 120 Question Id : 4557344440 Question Type : MCQ Display Question Number : Yes Single Line Question

Option :

No Option Orientation : Vertical
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A modulated signal 1s given by C_(t) = A_ sin @t + HA_ sin @ t sinw_t where [ 1s
modulation index. To keep the signal without distortion. the value of i should be

SrdgBAS BoHads Sosdo Cy(f) = A, sin @t + HA, sin @t sinm t ™ 2¢2A55.
R060S° P SrddgBAS Homd. H088 DErHn BHom BoHETIE S=IOVS Y DHensS

Options :
1. > 1
7 21
3. =4
i %1
Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344441 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The work functions (Wj) of K. Na. Li. Mg and Cu are 2.25. 2.30. 2.42. 3.70 and 4.80 eV
respectively. How many of these metals do not undergo photoelectric effect when a radiation
of wavelength 450 nm is allowed to fall on them ? (1 eV =1.602 = 1077 I)

K, Na, Li, Mg. Cu o 33daosren (W) 386dm 2.25, 2.30, 2.42, 3.70. 4.80 eV ex.
450 nm © {Sdodg%o Ko D80 &5 S°5e DBSHYE Q?JJ %552 5708 oGS
H0a98 S°55°H? (1 eV =1.602 x 10712 7])

Options :

g ‘L
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Question Number : 122 Question Id : 4557344442 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Number of completely filled orbitals in Xenon atom (Xe) 1s

]

8

20 (Xe) HESrePheS® GFromross esbyirs

d‘_hd:

\ ?5031}5

i

Options :

17

12
—1

Question Number : 123 Question Id : 4557344443 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The mass numbers of two elements X and Z are 52 and 75 respectively. X contains 16.6%

more neutrons compared to protons. Z contains 27.3% more neutrons compared to protons.
X and Z are respectively

o Soresren X Hdodn Z o BH50°8 Sopgen S6DH 52 Hdon 75. XeS® @irss
FNB 16.6% 595 Srgers) danon. ZS® (@irds FOB 27.3% 5085 Srgird
s, X, Zen 85

Options :

| 34C1' : 33AS

24C1' . 30211

13

19K . 3348

4 ggCll . 3[}211

Question Number : 124 Question Id : 4557344444 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform




An atom in a molecule has electrons in 1s. 2s. 2p. 3s. 3p. 3d and 4s orbitals. This atom can
undergo hybridisations of type

2,8 ©200)e5°0 HESrarHes” 1s. 2s. 2p. 3s. 3p. 3d Hodosw 4s 56;,6?%.6" &t}@ﬁmmoxm.
& HESre0d) S5 J08b8dsre Isten

Options :

| sp°d®. sp’. pids

- d?sp?. pids. dsp’

L2

sp’. dsp”. d’sp’

(Y]

sp’.dsp”. dsp

Question Number : 125 Question Id : 4557344445 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The bond dissociation energy (E) and bond length (R) of O,. N». F, follow the order as

02. Np. Fr 0 208 d@res #§ (E) 500050 2068850 (R) @0 o Edosn

(E) (R)
Options :
IOZ}NE}FE Fr > 0,> Ny
qNg}PQ}OZ N>, >0, >F,
g g Fy >0, > N
4.N2}02}P2 N, >0y>F,

Question Number : 126 Question Id : 4557344446 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the RMS speed of nitrogen at a certain temperature is 3000 ms™. the approximate kinetic

energy of one mole of nitrogen at that temperature in kJ 1s

(assume nitrogen as ideal gas)

28 003 SAFWS 58 3¢°*2S RMS 3K0 3000 ms™ wond «B P ¢ e IS

IR HéuF So5rHK Kl ot
(BE'ERS ssharoing =l 958 H5H0)

Options :

1 9.0

126.0

L3

3. 90.0

4.12.6

Question Number : 127 Question Id : 4557344447 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

2Cu,0 +Cu,Sy,) = 6Cu,y +S0,

the oxidant and reductant respectively in the above reaction are

D S0ge5® w8863, FohgdBen SEHdm

Options :

Oxide of Cu,O and sulphide of Cu,S

Cuy0 &° &) $0050 Cu,yS &S5° HTY6
1. a_ a

Sulphide of Cu,S and Oxide of Cu,O
CuyS &% 388 H00asn Cuy0 &° =3)54

L2

Cu(I) of Cu,0. Cu,S and sulphide of Cu,S
Cu0. Cu,S 05" Cu (I) H8050 CuyS &5° ST

Cu(I) of Cu,S.Cu(I)of Cu,O
; Cu,S &5° Cu (I), SHdoin CuyOes® Cu(l)
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Question Number : 128 Question Id : 4557344448 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 1.5 L of an ideal gas at a pressure of 20 atm expands 1sothermally and reversibly to a final
volume of 15 L. the work done by the gas in L atm 1s

1.5 L ss¢§Haradna 20 atm GBS0 3¢ 15 L $8 Hr8505r08088 330 &‘5@53;33325%3
g8 S0 Jodm Sosnd BVS 3D L atm o*

Options :

| 69.09

34.55

L-2

Question Number : 129 Question Id : 4557344449 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At T(K). the equulibrium constant of ‘HZ(g) +1y = 2HIy, 1549. It [H,]. [1,] at equilibrium

at the same temperature are 2.0<102 M and 8.0<10~2 M respectively. the [HI] at
equilibrium in mol L~ is

T(K) 8¢ Hoyoy + Loy = 2HI ) & 3508708 00850 49. o8 $FS 5 SHre8
38 [Hy]. [I] &0 883 2.04102 M. 8.0%102 M =ox: [HI] HoeRd 3§ mol L ees®

Options :
1 2.8

0.28

L3

.0.14

LiJ

Question Number : 130 Question Id : 4557344450 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the pH of 0.10 M monobasic acid at 298 K 1s 5.0. the value of pK, at the same
temperature 1s

298 K58 0.10 M 285764 esiivo pH 5.0 wond @8 s 3§ pK, dend

Options :
gcollegedumaa
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8.0

L2

4. 6.0

Question Number : 131 Question Id : 4557344451 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following.
1.  The number of hydrogen bonded water molecules in copper sulphate pentahydrate is one.
1. Lanthanum and zirconium form non-stoichiometric hydrides.

u1. Insolid form of H,O. each oxygen 1s surrounded by six oxygens in octahedral positions
at a distance of 276 pm.

Bob 5°¢3e5° BB HSTOD HBoHdmn

i 555 3B DorTESS” TIEES w0 we wmHe Sopg w88

il.  erofdo $HBasy 26)A0H0n TR-TonsBrIEE TRESS G0

. 08 67 HO &, $8é sz DHby soh sfiden vides Tood” 276 pm
BS38065° G030

Options :
1. 11. 111

p—

L2
-
"
-

(W)
s
o
=
o

Question Number : 132 Question Id : 4557344452 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Observe the following compounds.
CaCO; (1) . MgSOy (11) . BaCl, (i11) . Sr(NO3), (1v) . MgBr; (v) . MgCl, (vi)
The oxoacid salts of group II elements from the above list are

§0d JIAFToH H53OowHSN
CaCOj3 (1) . MgSOy4 (11) . BaCl, (111) . St(NO3)5 (1v) . MgBr, (v) . MgCl, (vi)

Urd I Sorose =8) sire odwren DS 06 788° 2?
collegedunias
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Options :
111, 111 1V, V, VI

|—-

LLIL IV

L-2

1LV, VI

Ll

4 1LV, VI

Question Number : 133 Question Id : 4557344453 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A few grams of borax is dissolved in distilled water. The pH range of resultant solution 1s

§'Q) rdne Sorfid ES 2e0s” §8Aowrd. 26\§ D) pH «58 (range) Jod?

1
0

Options :

1 1-4

L2
&
[ ]
-

4 7-14

Question Number : 134 Question Id : 4557344454 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An element (X) when bumnt in oxygen forms neutral XO and acidic XO,. The element X 1s

2.8 Sorosdn (X)=8j2de5”® HHod 62 X0:00o3n i) X0, o) ;'Jﬁsdaz;‘béa. SYISES Y
X 26?

Options :

i Sn

C

12

3 Ge

4. Pb

Question Number : 135 Question Id : 4557344455 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following.

A)
B)
C)
D)

List-1
Methemaglobinenua
Kidney damage

Bones and teeth damage

Growth of fish is stopped

808 830 285850550
At AL |
A) J9DF Do @
B) Sorghome sES0
C) Jd3nEen B ;')i; TFI0
D) BHe HHED A6 HoS0E S 08
The correct answer 1s

SBEH DEFTEER

Options :

A
i M

A
n;r

13

A
;3 IV

H

Question Number : 136 Question Id : 4557344456 Question Type : MCQ Display Question Number : Yes Single Line Question

B € D
b ¥ 3

B C D
m VvV I

B £ D
e T W
B C D
e g V

Option : No Option Orientation : Vertical

$2858°

48 gE®

List-1I

1 ppm of dissolved oxygen in water
1000 ppb of lead in drinking water
BOD of drinking water is 2 ppm

2000 ppm of nitrates in drinking water
50 ppm of fluoride in drinking water

e -11

Q&3e5* 86A% =828 1 ppm

& He3e5° 1000 ppb o B&
aHed BOD 2 ppm

i JE3es* 2000 ppm © JBHéTen
a=H 0¢3e5° 50 ppm © FOE
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In the following three dimensional structure of CH,. the bonds are labelled as W. X, Y and
Z. The bonds projecting out of the plane are

§08& CHy @005 J07)20065°0 wogren W, X, Y. Z e JArDoHToR. & V0700
g0 $H08 20588 G oD HD?

Options :

. XX

W.Z

)

H

&.’

Cl;‘”gh

X
W

|

H

Question Number : 137 Question Id : 4557344457 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify X and Y in the following reactions

Sod SEgoes® XY ok fHgosod

CH,

Options :

X

. CH;OH

O, / Mo, O,

A

O, /Cu/ 523K / 100 atm

b

Y
HCO,H

F i

Y

-

el
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X Y

, HCOH CH,0
X Y

, CH;0H CH,0
X ¥

, CH,0 CH,0H

Question Number : 138 Question Id : 4557344458 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following has highest dipole moment?

§od 8S* wdghHE BEHS Erdoso Sobd 6?

Options :
cis-But-2-ene

e

hﬁ-ewgﬁ-ﬂ-ée

trans-1. 2-Dichloroethene

4 = 5 "'}_—-"“"5"“'5 : =
g1, 2-886° 66

L2

ci1s-1. 2-Dichloroethene

25-1, 2-B86° 665

trans-But-2-ene

€77 -e0°8¢5 -2

Question Number : 139 Question Id : 4557344459 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the side length of a face centered unit cell of a metal is 400 pm. approximate radius of

the metal in pm is (\C =14 14)

28 ' Hof So¥E orddT S gHhadn >dPH 400 pm ©ond @‘;ﬂmﬁgm

pm e&® DI (\/: = 1,414)

Options :
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14.14

—

L3
faJ
h
ta

176.7

bl

, 1414

Question Number : 140 Question Id : 4557344460 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If CO, gas having a partial pressure of 1.67 bar 1s bubbled through 1 L water at 298 K. the
amount of CO, dissolved in water in g L™! is approximately

(Henry’s law constant of CO, 1s 1.67 k bar at 298 K).

298 K &g 1.67 bar F§8H &S0 CO, 7ad0HS 1 L HE3S®S Honm, HieS® €8a85 CO,
H0Srasn g Lles® Hsrds (298 K 5¢ i@ d0Hs Horoso 1.67 k bar)

Options :

| 24.42

-2
[oa—
2
g8
p—

Question Number : 141 Question Id : 4557344461 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

12.25 g of CH3CH,CHCICOOH is added to 250 g of water to make a solution. If the
dissociation constant of above acid is 1.44x107, the depression in freezing point of water
in °C 1s

(K¢ for water is 1.86 K kg mol 1)

250 g0¢38 12.25 ge>» CH3CH,CHCICOOH 895 2.8 (°&00 €038 DoH20808. D Chble
RS Yorogo 1.44x107 wond 8 HAFSS T dSyd °C o

(543 K¢=1.86 K kg mol )

Options :

1 0.789

2 0.394

gcollegeduniaa
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Question Number : 142 Question Id : 4557344462 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : The charge on one mole of electrons 1s one Faraday.

Reason(R):  The quantity of current required to deposit one mole of Mg from Mg*
electrolyte solution 1s two Faradays.

D3 Fo (A): 2.8 ArS IOEFIL DS ©3¥0 .8 FEE Godood
s620 (R): Mg* déogb@agerdeno o &8 36 Mgo§Rsm BoHirds e5h650:s
DS HBBre00 Tok FETeN

The correct answer 18

i

&

BGS BSTTHEN
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

: (A) o8adn (R) 0 Bodr $863050 S08ad» (R) w38 (A) £ 20 DD

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
(A) 80350 (R) e Bodr 5853080 57 (R) w38 (A) 8 D030 DT 575

-2

(A) 1s correct but (R) is not correct.

(A) 3850058 570 (R) H85858 5765

Ll

(A) 1s not correct but (R) 1s correct,

? (A) 305088 57 577 (R) 30308

Question Number : 143 Question Id : 4557344463 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the half lives of the first order reaction at 350 K and 300 K are 2 and 20 seconds
respectively. the activation energy of the reaction in kJmol™ is

350 K. 300K ® 58 30488 (508583 VIO ST 2. 20 280 wond B8
&a2d 8§ kJmol! o
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Question Number : 144 Question Id : 4557344464 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is present in gas mask?

Bod 786° TonSndres® oid 26?2

Options :
Silica gel

| 505 BS

V05

—

12

Activated charcoal

325008 T

Fluorescein

Fh3

Question Number : 145 Question Id : 4557344465 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The pair of oxides. which can be leached out. when powdered bauxite containing certain
impurities 1s digested with concentrated solution of NaOH at 473 - 523 K temperature
and 35 - 36 bar pressure are

§Q) Hdgrod Erad Srfgerg)iih m¢ NaOH ordwod” §85 473 - 523 K 4.
35 - 36 bar S0 5 $6gadHBBWE, AFESo Bod wFE 2o

Options :
, Si0,. AlLO;

gcollegeduniaa
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, Si0,. Fe,0;

4 A1303. Fe303

Question Number : 146 Question Id : 4557344466 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Nitrous acid was disproportionated to form water. HNO; and X. In another reaction. sodium
nitrite was reacted with H,SO4 to form NaHSO4 . HNO; . water and Y. What are X and Y
respectively?

JLD sHo edHTrdo BFod A6, HNO; HH80sn X o 610808, R088 S65e°
Faodo JBE HyS04&° 585506 NaHSO4 . HNO3, 06> 50050 Y 0d 26)6:308.
XY 0 S35 997

Options :

. NO.N,03

NO.NO

)

sl

Question Number : 147 Question Id : 4557344467 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following

1.  Oxygenshows—2.—1.+1. +2 oxidation states.

1.  The thermal stability of H,O. H,Se. H,S follows the order H,O < H,S < H,Se.
. The reducing nature of H,Se . H,S . H,Te follows the order H,S < H,Se < H,Te.

808 DIFee” JBGHS 530 KHGowsrSm

i e§md -2, -1, +1, +2 4§56 [Hbod BE0SHD.

ii.  H)O.H;Se. HyS © &5R08¢cs50 Srddoh Edoadn HyO < HpS < HjSe.

1. H,Se.H,S.H,Teo» §o5800 Sgarddn ardodh Edodn H)S < HySe < HjTe.

Options :
{ 1. 11, 111
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3 111

4 11, 111

Question Number : 148 Question Id : 4557344468 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Which one of the following reactions does not take place ?

§0od S6ge65° B 26HE?
Options :
, B +2Br —»2F +Brn,

Br, +2I" > 2Br +1I,

]

Cl, +2Br — 2Cl +Bp

i Br, +2ClI" —» 2Br + Cl,

Question Number : 149 Question Id : 4557344469 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Identify the reactions in which dichromate acts as an oxidizing reagent.

BEDNE, w8880 stESor HIVosn SEges $HB0EKH®.

b

D CrOX +6Fe™+14H* 5 2Cr** + 6Fe* + 7H,0
II) ‘CI'EO%- +20H —»2C 1'0_,‘:_ +H,0

M) CrO2 +6I +14H* — 2Cr™ + 31, + 7H,0

IV) Na,Cr,0; + 2KCl - K,Cr,0, + 2NaCl

Options :

, LIV

LI

L-2

; ILTII

4 ILIV

-

el
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Question Number : 150 Question Id : 4557344470 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The green coloured complex 1on of nickel in its aqueous solution is

2OPrS008" siDID) Goh o J8S S0l

Options :

. [Ni(en); @

[Ni(H,0), (en), ]

Lo

3 [Ni(H,0),(en )T*’

) [Ni(H,0), ]

em

Pl.‘."

Question Number : 151 Question Id : 4557344471 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Examples of synthetic polymer (X) and semi-synthetic polymer (Y) are

B¢ FON (X), wf 58S TONS (Y) od emirdeoen

X

Options :
polythene

3955

rayon
0057

-2

cellulose nitrate
, PO§S'E IBE

v

rayon

005°S

nylon 6. 6
Je°e 6, 6

polythene
FOHS
PVC

PVC

-

el
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Question Number : 152 Question Id : 4557344472 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fisher projection formula of L - (—) - glucose 1s

L - (-) - 6r8'8 DA g8 F O
Options
CHO
H OH
HO H
H OH
H OH
; CH,OH
CHO
H OH
HO H
HO H
H OH
. CH,OH
CHO
H OH
HO H
H OH
HO H
. CH,OH
CHO
HO H
H OH
HO H
HO H
s CH,OH
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Question Number : 153 Question Id : 4557344473 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Structure of Ranitidine 1s

TOSE Ao7dD
Options :
N
/
N

HN
b\ CH

CH(NO,)
I\it‘zN \/[_3\/5 \/\N)\
0 NHMe

CH,

| ]
.

CN
CH, /
HN \ N
CH
S S\/\/\N)LN/ ?
N H H

H NO,
\ C/ -

g 0 S ‘I; NHMe

Question Number : 154 Question Id : 4557344474 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X. Y and Z in the following reaction
§od 363 &* X. Y. Z ex 23?

R-OH+PCl, > X+Y+2Z

X x L
Options :
1 R—ClI HCl POCI,
, ROR H;PO; H,0
, R-CI H,0 POCl;

[ ]
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ROR H,0 POCl,

Question Number : 155 Question Id : 4557344475 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Butanone reacts with methyl magnesium bromide to form an addition product (Z). On

hydrolysis Z gives

=

', NFS BfiyncHa F'HeS” S65 200 Jofs ahdo (Z) S A6508.

Z 5 2odzhn JoHmr IHEH

-
'

Options :

' CH;CH,C(OH) (CH3) CH;

==

(H;C);C CH,0H

L-2

CH;CH, CH,CH (OH) CH;,

- CH; CH, CH (CH;3) CH,OH

Question Number : 156 Question Id : 4557344476 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
What are X and Y in the following reactions?

Bod $6gees® X. Y en 29?

i) CHCI, / NaOH

=
i) H®
Phenol
S DNaOH W) €O,
iii) H®
X b of
Options :
OH OH

: :COOH QICHO

-

el
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OH

OH
GECHZOH GECOOH
OH : _OH
; HOOC OHC
OH OH
i @:CHO CICOOH

Question Number : 157 Question Id : 4557344477 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Lo

What are X and Y in the following reaction?
Bob S6ge65° AG\E X, Y esfyoryen ID?

CH;
|
CH;-C—-OCH;+HI » X+Y

CH;
X Y

Options :
| (H;O)CI CH;0H
, CHylI (H;C);C OH

CH;

N

. CH;

CH3 —-C= CHE CHgo

|

4 CHj;
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Question Number : 158 Question Id : 4557344478 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Reagents used in Etard reaction (I) and Stephen reaction (II) are

2trg $63 (I), Y3 65 (II) ©° 8 s°E5ven
I I

Options :

 PCC SnCl,/ HC

, SnCly/HCI CrO,Cl,

5 CrO)(Cl SnCl,/HCl

, CrOyCly PCC

Question Number : 159 Question Id : 4557344479 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X and Y 1n the following reactions?

8ob Sgee* XY en 29?

s DR wsenres < TINE
X .
Optiuns :
SR 2
. RCOONH, RCH,CN
, RCN RCONH,
; RNHCH; RCH,NC
4 RCONH, RCN

Question Number : 160 Question Id : 4557344480 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The order of basic strength of methyl substituted amines and NH; in aqueous solution is

20 (50065° MHFS PHEEHS e 50d0sn NHzo 578 2o §S00
Options :

| (CH;3),NH > CH3NH, > (CH3); N > NH;

, (CH;);N>(CH;),NH > CH;3;NH, > NH;

3 (CH;),NH > CH;NH, >NH; > (CH3)3N

4 NH3 > CH;NHE > (CH3)2NH > (CH3)3N
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